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1 4 No

A B 42

#£1 RABAOEUGHRSE
SAMPLE 58.9 15.0 6.0 17.0 22.0 H=5 C=3 L=10
<! £ % {R| L. a b C H dE dL da db dC dH N
BYHIVAD-VwhGL 0.35| 7
FZ-WN" 44 }BD 0.10} 2
5370y7° 0y6L 0.05| 1{60.4 16.8 6.0 17.6 20.6 2.3 -1.5 -1.8 0.0 -0.§ 2.0 13
B SUF BR-ELN | 0.15] 3
-1 43V9BD 0.05| 1
549157° nyGL 0.30| 6(53.9 16.2 6.3 17.1 21.0 5.2 5.0 -1.2 -0.3 -0.1 1.0 8
BYHTYAD-VwbGL 0.30 | 6
FZ-BN° 44bwBD 0.10 | 2
5+78y7° 0y6L 0.10| 2{61.0 14.9 6.2 16.1 22.0 2.1 -2.1 0.1 -0.2 0.9 0.0 13
AWE SR R -ELN | 0.15 | 3
539077 0Y6L 0.35| 7|5.9 15.8 8.117.9 27.0 4.6 4.0 -0.8 -2.1 -0.9-5.0 8
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#£2 REBRAEHESHEE
No |iBE a b c dL dC dH alflL alff alfH
13 [0.60 6.20 2.00 1.80 0.5% 0.01 O0.06 0.25 0.74 =0.18
1 | 0,60 6.50 2.00 1.50 0.63 0.10 0.8l 0.3 0.92 -0.16
13 | 0.60 &.00 2.10 1.90 0.33 0.10 0.73 0.20 0.69 -0.14
13 | 0.60 6.30 2.00 1.70 0.65 0.12 0.30 0.768 0.80 -0.16
13 | 0.60 6.40 2.00 1.60 0.87 0.15 0.5 0.31 0.86 -0.16
13 [0.60 6.10 2,00 1.90 0.46 0.23 0.17 0.22 0.69 ~-0.15
13 {0.60 5.80 2.00 2.10 0.54 ©0.25 0.72 0,12 0,61 =0.15
13 | 0.60 5.90 2.10 2.00 0.59 .39 0.33 0.19 0.63 -0.14
%3 RABAOFHILYAT
No [DYNo | V1a| V1b| Vic| X |Sla|Slb|Slc| a b c {AlL | LW L GOSA
65 43°| 42 |0.80 |-22 |-27 {-34 |6.2 | 2.0 1.8(0.25]58.4|58.9-0.55
13
Vea| Veb Vcc X |Sla|{S1b|Slc| Pa| Pb| Pc|[AlC |C¥ C GOSA
42 17 18 {0.60 {-22 |-27 |-34 |-1.3{-0.4(-0.2{0.74|17.1[17.0| 0.07
A=13
B=8| X |Ha [Hb |Hec | AlH H¥ | H GOSA
C=12
0.60 231 326 47 |1 -0.16 22.0 | 22.0| 0.00
%4 RABAOEHEE
ROEHE= 5.0 g FRoB#®EE= 0.1 %
X= REEE Y =gROoRNE Z =R 6 O NE

XA= 0.37 %

XB= 0.12 %

XC= 0.11 %

YA= 0.02 g

YB= 0.01 g

YC= 0.01 g

ZA= 18.6 cc
ZB= 6.0 cc
ZC= 5.4 cc

42




#5 RAEBOOLERE

18

SAMPLE 35.6 26.0 16.0 31.2 32.0 H=5 C=3 L=10
h=:t £| % |R| L a b ¢ H 4dE dL da db d4C dH N
h¥h3 s Ah-bo 6L 1.80
Avh® 3777 07 26LN 0.30
3+7027° 0GL 0.30 37.5 24.2 18.2 30.4 36.0 3.4 -1.3 -1.8 -2.2 0.8 -4.0 17
BY 7Y Ah-boEL 3.00
Avh” 5277 07 2GLN 0.50
317077 UGL 1.50 32.6 23.6 16.8 29.0 35.0 3.3 3.0 2.4 -0.8 2.2 -3.0 17
BV BTV RB-bwbGL 2.10
4" 577”07 2GLN 6.30
5%90v7° 0Y6L 0.60 40.9 27.2 20.2 33.7 36.0 6.9 -5.3 -1.2 -4.2 -2.5-4.0 17
BYhIYAh-VoFGL 3.50
Avh® 5777 oY 2GLN 0.50
33707 0v6L 1.00 34.6 27.0 19.2 33.4 35.0 3.5 1.0 -1.0 -3.2 -2.2-3.0 17
#6 RABBOELEBEHHELE
No | iBE a b ¢ dL dC dH alflL alfC alfH
17 | 4.00 7.00 0.40 2.60 0.16 0.30 1.97 0.50 0.72 -0.04
17 {4.10 7.00 0.40 2.60 0.36 0.37 1.97 0.51 0.73 -0.04
17 14.20 7.00 0.40 2.60 0.30 0.43 1.97 0.53 0.74 -0.04
17 14.00 7.00 0.30 2.70 0.13 0.72 1.68 0.50 0.71 -0.03
17 {4.10 7.00 0.30 2,70 0.68 0.83 1.68 0.52 0.73 -0.03
£7 RABBOFHILYAS
No |[DYNo | V3ia| VIb| Vic| X |SlajSlb|Slc a b c |AIL [ LW L GOSA
65 53 42 14.00|-20 |-34 [-25 [7.0 0.4 2.670.50{35.8|35.6| 0.16
17
Vea|Veb) Vee} X Sla{Slb|{Slic| Pa| Pb| Pc|AlC | C¥ C GOSA
42 33 18{4.00{-20 |-34 |{-25 |-1.2|-0.0|-0.2}0.72{30.9}31.2|-0.32
A=13
B=11| X | Ha |[Hb | Hec AlH HY¥ H G0SA
C=12
4.00 33 45 321-0.04 34.0132.0} 1.99
#8 RABBOLHER
HOER= 5.0 g BHOBRTRE= 0.1 %
X= SREERE Y= 2&RORNE 1=FEr60RNE
XA= 2.80 % YA=0.14 g ZA=140.0 cc
XB=0.16 % YB=0.01 g ZB= 8.0 cc
XC=1.04 % YC=0.05 g ZC= 52.0 cc
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%9 HOFHECCMTPRORLHER

L(BE)=58.9
BERAA C(HBE)=1T7.0
H(&H)=22
AE (B £ ) = &it
REE & Fdl | CCMT#l
A= hYh3y Rh-bwb GL 0.1% A= h¥h3v Ah-bwb GL 0.37%
B= 48575y & B -EL 0.1% B= 52-% N 44bwh BD 0.12%
No 1 |C= 951 7°0y 6L 0.1% C= 5370y 770y GL 0.11%
L= 63.6 C= 18.8 L= 58.6 C=17.2
H= 19 AE= 5.7 H=20 A= 0.7
A= 45757 # k- EL 0.2% A=
B= 32-% N 43b9b BD 0.1% B= 5] +
No 2 C= 5t7my 7°0y 6L 0.2% C=
L= 53.1 €= 17.9 L= 53.5 ¢C= 15.7
H= 8 Af= 6.5 H=19 Af=5.4
A= BYh37 Ab-Vwb GL 0.1% A=
B= 52-% N 44b9t BD 0.04% |B= [ i
No 3 {C= 370y 7'y GL 0.08% |C=
L= 67.7 C= 16.0 L= 56.6 C= 17.6
H= 31 Af= 9.6 H= 20 AF= 1.9
A= ApD757 Fub - EL 0.16% | A=
B= 5z-» W 44bwb BD 0.04% [B= H E
No 4 {C= 5w 7'nv GL 0.2% C=
L=57.2 (= 17.2 L=57.1 ¢©C=17.4
H= 186 AF= 2.2 H= 19 AF= 0.9
#10 HOFROC CMTRORPER
L{®Mm®E )=35.86
B REE CIEE)=31.2
Hig®|)=32
AE(®E 8 )= TR
rﬁ:ﬁi.!. =5 5 F M CC M T
A= AFRTY AD=lesb GL 2.8T | A= bYHIr Zh-bwr GL 2.80%
B= Stbsf 70 G 04T | B FiEol 7'my G 0L 16%
Mo & [C= 5#fme 770 GL 0.8 | C= %#70v 70y GL 1.04%
l= 37.5 [=31.3 L= 3.7 €= 31.1
H= 35 af= 2.1 L YL Y S—
A= oTo%x A==t GL 4.51 k=
Be Ftesb 770y G 0.5% B= B e
Mo & |C= $+9me 770y  GL 1.0% L=
L= 3.7 €= 3.9 L= 36.1 €= 31.8
| H= 14  AE=5.0 H= 38 AR= 1.8
ke Feh3s Ak-bob BL 3,71 =
B= 3test T80 & 0.3% B= A i
Mo T |C= S#rpr 220 BL 1.0% 0=
L= 35.% C= 11.2 L= 36.3 €= 3l.]
H= 3 af= 2.9 He M4 AEs 1.7
| A= AFRFs Ad=bsb BL 3.5% i
VB= Stpeb Dy & 0EE (B M i
No 8 | 0= s#om "6y EL 0.5 |Cw
L= .9 C= 3.0 =30 = 30.7
A= 35 &= 3.2 = M4 af= 1.5
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